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HIGHER SECONDARY
HALF YEARLY EXAMINATION 2017

ACCOUNTANCY WITH ANALYSIS OF FINANCIAL STATEMENTS
Maximum : 80 Score

Time : 2½ hrs
 HSE - XII Cool off Time : 15 Minutes
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General Instructions to Candidates :
• There is a ‘Cool off time’ of 15 minutes in addition to the writing time of 2 hours.
• Use the ‘Cool off time’ to get familiar with questions and to plan your answers.
• Read the questions carefully before answering.
• Calculations, figures and graphs should be shown in the answer sheet itself.
• Malayalam version of the questions is also provided.
• Give equations wherever necessary.
• Electronic devices except non programmable calculator are not allowed in the Examiniation Hall.
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PART – A

ACCOUNTING

1������4������������
����
���������
�� ���!"�1�
#�	��$��"

1. �<�	
�(��6��CD�5	���	��$��	�D�6���
E��6���	0�F.�A�$�	�#�	�D�6��6�5	��%��
0F���%$�	__________	0�/� 
a) $�0*	E����$� b) �#�	E����$�
c) ��0G�	E����$� d) =.���%��C

2. .������%	���	�D�6�	 12,000	 ���	 .�0��9
��/�H�	8,000	�����	I�<����%� 	=$�	'�J
�4��
�%$���	 ��&�9	 E��6���	 ��0G�
E�K��	L�0B
�	55,000	�����/� 	E��6���
'0�M	E�K��		��/���%		L�0B
��	_______
7/� 
a) Rs. 43,000 b) Rs. 47,000
c) Rs. 55,000 d) Rs. 63,000

Answer all questions from 1 to 4. Each carries
1 score.

1. Unless otherwise agreed, a new partner acquires
his share in profits from the old partners in

a) Equal ratio b) Old ratio
c) Capital ratio d) None of these

2. A retiring partner took over furniture worth
Rs. 12,000 for Rs. 8,000. His capital a/c balance
before adjusting the above is Rs. 55,000/-. His
loan a/c will show a balance  of
a) Rs. 43,000 b) Rs. 47,000
c) Rs. 55,000 d) Rs. 63,000

A
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3. =B��	 7N�	 "��
���B��H�	 E�K��
��/���%$� 
a) ��H�            b) �O�
c) ��H�	E�CD�5	�O�	d) ��H.��	�O����

4. �D�6�����	 �����	 
��
�	 '2����<�	 7N�
'0�
�	E�K���0	�PL�<�	L�0B
�
a) �#�	�D�6�����	2�P�<�	�(;�%� 
b) �#�	�D�6�����	�PL�<�	�(;�%�
c) "C�	�D�6������	2�P�<�	�(;�%�
d) "C�	�D�6������	�PL�<�	�(;�%� 

5������8������������
����
���������
�� ���!"�2�
#�	��$��"

5. $%�����%	 'Q�/5	 "B2���6�5	 ��%��
7R��6�5	.%���9	��<�	"#�$�� 
a) Revaluation a/c  Dr 1,200

 To Stock a/c 1,200
b) Land a/c    Dr 5,000

To Revaluation a/c 5,000
6. A ���	 B ���	 0�F�	 �D���%$�	 5:4 "%

E����$
�0�/� 	E.�	C ��	1/9th ��A����
:���
�5	'(�������	E$�	��#�.�����
A ��5	 ��%�	 "����%� 	 ��$��	 E����$�
���������� 

7. ��0G�.�.������	 �.�*�	 .�.������
���	.?$�	�)�A�/!�	"#�$�� 

8. Q��.��	1, 2016 ��	���	�D�6�����	��0G�	E�K
��5	 25,000 �������	 2�P�<�	 L�0B
��� 
E���	����		31, 2016 .?���	15,000 ���	��0G��
�����.��%� 	 ��0G�
���	 ���6�5 10%
.�����	 �����5	 �0�8	 �/����� 
E�K����	 $?�4���%$�	 "C�	 .��.��
P�
�L�	31��/� 

9��10��%$�
����
��&������� ���!"

3�
#�	��$��"

9. ����1	 
����	 "%�.�	 ���	 :���
��0
$�0*	 �D�6��6�/� 	 E.�	 1/5	 0�F.�A�$�
�5��	Q�
�����	�������%� 	Q�
��	$��#
$%���9	 7R���	 ��0G�
����	 3�P�.�5
2�?���
�������	�����	.��%� 

����/��	Rs. 50,000,  ��/�H�	Rs. 15,000,
'S���	Rs. 10,000,  �*���	Rs. 12,000.

    :���
��N	 3�P�.�5	 50,000 �����/� 
'Q�/5	"B2����	"#�$�� 

3. Income and expenditure account shows
 a) Surplus
b) Deficit
c) Surplus or Deficit
d) Surplus and Deficit

4. On admission of a partner, debit balance of P & L
account is
a) Credited to old partners
b) Debited to old partners
c) Credited to all partners
d) Debited to all partners

Answer all questions from 5 to 8. Each carries 2 score.

5. Write  the changes affected on assets from the
following journal entries.

a) Revaluation a/c  Dr 1,200
 To Stock a/c 1,200

b) Land a/c     Dr 5,000
To Revaluation a/c 5,000

6. A and B share profits in the ratio of 5:4. They
admit C for 1/9th share which he acquires
wholly from A. Find the new profit sharing ratio.

7. Write two examples each for capital receipts
and revenue receipts.

8. The capital account of a partner shows a credit
balance of Rs. 25,000 on 1st January 2016.
He introduced further capital Rs. 15,000 on 31st

May 2016. Calculate interest on capitals payable
to him at 10% p.a. Books are closed on 31st

December each year.

Answer the questions 9 and 10. Each carries 3 score.

9. Shafi and Sinan are equal partners in a firm.
They admit Jasim for a fifth share in the profits.
Jasim contributed the following assets towards
his capital and premium for goodwill.
Machinery Rs. 50,000, Furniture Rs. 15,000,
Stock Rs. 10,000 and Cash Rs. 12,000.
Firm’s goodwill is fixed at Rs. 50,000.
Give journal entries to the above.
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10. $%�����%	.�.�!6�5	��%��	A	���		B	���
�D�6��6�����9	:���
��N	.?$���B
�#���%	0�F�	�/����� 

a) P & L E�K��	2������9	0�F�	Rs. 28,000.
b) �D�6��6���	��0G�	E�K���0

.�����F	L�0B
�	 25,000 ���	.?$
��/� 	��0G�
���	 10%  .�����	�0�8
�5�/� 

c) ��4�	.��
�5	A 4,000 ���	$�N	
T���*
7.8*
�����	 ��B.0���%� 	 E$���
���6�5 5%  .�����	�0�8	=K���/� 

11, 12��%$�
����
��&�4�
#�	��$��"

'��(�)���*%��&������ ���!"

11. �D�6��6��	X, Y, Z "%�.�	0�F�	�D���%$�
3:2:1 "%	E����$
�0�/� 	Z .������%� 
=$��N	 F�3����	 3�P�.�5	 �/����%$�
8��8��	0�F�
	2 .��	��'H��
�5	"��
�
�����/� 

a) 3�P�.�5	 .�0	 ����������1	 8��8��
0�F� 18,000 ������/D�5

b) 3�P�.�C��N	 �?��'��������9
'Q�/5	"#�$�� 

12. (�.��	 $%�����%.��	 �D�6���	 I$�
E����$
�0�/�	.?$��H����%$�	U

a) ��$��	�D�6�	�5��%	3�P�.�5

b) .������%	�D�6���	�5��%	3�P�.�5
=K	 E����$!�	 $O�0�9	 ���
.*$*�
!�	����	"#�$�� 

13, 14��%$�
����
��&������� ���!"

 5 
#�	��$��"

13. ���	 ��$��	 �D�6���	 �������%$��N
F�3����	 ��
�����9	 ������0*���/�

��N	'Q�/5	"B2����	"#�$�� 

a) 'S����N	.�0	3,000 ���	���V� 

b) 2,000 �������	'�<N�	.�0��C�$��� 

c) 2�P�'<#�
�	1,000 ���	���V� 

d) 4,000 �������	 ��/�H�	 3,600 �����
.�5��%� 

e) 700 ���	 �W���A��	 L�G*$����
�.�/� 

10. From the following information ascertain the
divisible profits of a firm where A and B are
partners.

a) Profit as per P & L account Rs. 28,000.

b) Partners capital account shows an opening
balance of Rs. 25,000 each. Interest on
capital to be provided @ 10% p.a.

c) During the year A withdraws Rs. 4,000 for
his private use. Charge interest on drawings
@ 5% p.a.

Answer any one question from 11 and 12. Each
carries 4 score.

11. X, Y and Z were partners who share profits in
3:2:1. Z retires. Goodwill for this purpose is
valued at two years purchase of average profits
of the firm.
a) Compute the value of goodwill, if average

profit is Rs. 18,000.
b) Pass necessary journal entries for

treatment of goodwill.
12. In which ratio the following are shared by

partners ?
a) Goodwill payable by the incoming partner.
b) Goodwill payable to the outgoing partner.
Also write any two differences between those
ratios.

Answer questions 13 and 14. Each carries 5 score.

13. Show journal entries for the following
revaluations made at the time of admission of a
new partner.
a) Value of inventory reduced by Rs. 3,000
b) Patents of Rs. 2,000 is foundvalueless.
c) Liability for creditors decreased by

Rs. 1,000.
d) A furniture costing Rs. 4,000 was sold for

Rs. 3,600.
e) Provide Rs. 700 for liability for damages.
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14. �D�6��6��	 E.X��1	 EB.�G1	 E0��Y$
"%�.�	 0�F�	 �D���%$�	 2:2:1 "%
E����$
�0�/� 		2017 ����	31 ��	E.X��
.������%� 	E.6���	��0G�	E�K��5
30,000 ���	 L�0B
��� 	 ��0G�
���	 10%
.�����	 �0�8	 �5�/� 	 :���
��N
Q��5	��
�.�	12,000 �����/� 	.������%
)�.
�	 .����9	 :���
��N	 0�F�
�#�V	 .���
	 0�F���	 18,000 �����
E��:������	 �/���/� 	 E.X��Z�
4,050	���	��B	�/����	�5��%� 	E.6���
��0G�	 E�K��	 $;������ 	 �/����
$?�4���%$�	P�
�L�	31 ��/� 

15������16�����
����
��&��8�
#�	��$��"
'��(�)���*%��&������ ���!"

15. �D�6��6��	 3'/8�1	 ��Q�	 "%�.�	 0�F�
�D���%$�	3:2	"%	E����$
�0�/� 	E.�
'��A���	$��#	�����	2�����	�������%�  
1) '��AB	 25,000 ���	 �����.��%$�5

5,000 ���	3�P�.�5	2�?�����/� 	E��6���
0�F	.�A�$�	1/5	7/� 

2) 'S���	5% �����%�1	��/�H�	12,000
�����'0��	.�,�H� 

3) 
�8������	��
���	5% ��<�
.Z/�	[�2��.��B\

4) 2,000 �������	�W���A��
���
:����	 $��
�'0��4������	 
�
.��
��N	 F�3����	 1,000 ���
�5�����	$?������H� 

				����	��0*���/�	E�K��1	��0G�	E�K��
				��1	��$��	L�0B
�	�?<�	"%�.	$������� 

16. :���
��N	���]
�^���
��N	
��
�
E�K��_�	7.8*
�'0����	3�P�.�C���
.�0	��`��'��$�/� 	3�P�.�5	.�0���/�

��N	.�.�G	�?$���	.�8)?������ 

14. Avanthika, Anvidha and Alamkritha are partners
in a firm sharing profits in 2:2:1. Avanthika retires
from the firm on 31st May 2017. Her capital
account showed a credit balance of Rs. 30,000.
She is entitled to interest on capitals at 10% p.a.
The firm had a General reserve of Rs. 12,000.
The profit of the firm up to the date of retirement
is to be ascertained on the basis of previous year’s
profit which was Rs.18,000. Avanthika is paid
Rs. 4,050 immediately in cash. Prepare her Capital
account. Books are closed on 31st December
every year.

Questions 15 and 16 carry 8 score each. Answer
any one.

15. Ganesh and Shaji are partners sharing profits
in 3:2. They admit Mohan in to the firm on the
following conditions.
1) Mohan brings in Rs. 25,000 of which

Rs. 5,000 is for goodwill premium. He is
given 1/5 share in the profits.

2) Stock is reduced by 5% and furniture
enhanced to Rs. 12,000.

3) Provision required on debtors for doubtful
debts is 5%.

4) A claim for damages for Rs. 2,000 is
disputed by the firm and on compromise it
is settled at Rs. 1,000. Their balance sheet
before admitting Mohan is given below.

Show Revaluation account, partners capital
accounts and new Balance Sheet.

16. Goodwill is to be valued for accounting purposes
at the time of reconstitution of a firm. Explain
the various methods of valuation of goodwill.

Balance Sheet

Liability Amount Assets Amount
Sundry Creditors 36,000 Bank 15,000
Bills payable 17,500 Stock 18,500
Capitals : Sundry debtors 12,000
   Ganesh 50,000 Furniture 8,000
   Shaji 45,000 95,000 Machinery 30,000

Buildings 60,000
P & L account 5,000

1,48,500 1,48,500
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PART – B

ANALYSIS OF FINANCIAL STATEMENTS

1������5������������
����
��������
�� ���!"�*�
��%�����1�
#�	��$��"

1. ��A��	�%���	5����	2��a���	.�5����5
0F�H	250���A����	������'8��	2����
P�
��K��5	�?	�=�*�	�(�b�5	'���	"2$	U

a) 1,250 ��� b)	1,000 ���
c) 750 ��� d)	500 ���

2. $%�����%.��5	�<�4�$�	���
�� 
a) '2�P�	'��L��
�
b) =B�.BN�?
�
c) �*���
d) ����	=B�.S���N�
�

3. $��#	$%�����%.��5	
�&
��	'�J�
6���	.�8�0�	0@*
�5�4��
$�	I$�	U
a) :���
��N	
�&
��	:�$�

���'8�G���� 
b) 0��T�P�<�	:�$�	���/����� 
c) ������Lc���	��0���� 
d) ��'�Q���N�	��.)3�G*�	���'8�G���� 

4. �&��	����
��01	��P*�� VI	2�����	$��#
$%���9.��5	=B�.N�?
�5	���4��
$�
I$�	U

a) '��	��<?���5
b) 'S��
�	& 
���'�#�
�
c) �������
d) 'S���	=B	'2�P�

5. '���M	��

�	'S<���N��N	��<���	'���
a) P�������	E��0�
�
�
b) �A���'
��5	E��0�
�
�
c) �.����5	E��0�
�
�
d) =.���%��C

 6������11��������
����
+���'��(�)��

�5��,����-�������� ���!"�*�
��%�����2�
#�	

�$��"

6. '.����	��5��%$�	���
�� 
a) L�0B
��?<�
b) ��'��<?.�	'S<���N�
c) '���M	��

�	'S<���N�
d) �*���	��'6�	'S<���N�

					��!6���	�
��	
�G������� 

Answer all the questions from 1 to 5, each
carries 1 score.

1. Calculate the gain on the forfeiture of 250
shares on which Rs. 5 being paid up on
orginal issue and Rs. 2 allowed as
discount on reissue.
a) Rs. 1,250 b) Rs. 1,000
c) Rs. 750 d) Rs. 500

2. Find odd one out.
a) Trade payables
b) Inventories
c) Cash
d) Short Term Investments

3. Which among the following is not an
objective of the Financial Statement
Analysis ?
a) Assess the financial health of a firm
b) Judge liquidity position of a firm
c) Comply with legal requirements
d) Evaluate the efficiency of management

4. Which of the following is not included
under inventories as per Schedule VI of
the Companies Act ?
a) Raw material
b) Stores and Spares
c) Machinery
d) Stock-in-trade

5. Common Size Statements are also known as
a) Dynamic Analysis
b) Horizontal Analysis
c) Vertical Analysis
d) None of the above

Answer any five questions from 6 to 11, each
carries 2 scores.

6. Find out odd one.
a) Balance Sheet
b) Comparative Statements
c) Common size Statements
d) Cash flow Statement
Also justify your answer.
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7. ����	 L�D�5	 ��%��	 "��
	 1,20,000
�������	.��dZ�	1,200, 10%	��42$�	EG��
=K����	 �5��%� 	 �&������	 L�0B
�
�?<�5	=$�	'�J�4��
�%	.�G�	��/���� 

8. 8�.	 0���<P�5	 ��%��	 :0�	 .�!��$���
�������	 50	 ���	 ��J.�0��9	 50,000

�G��/	 ��A����	 S��	 0���<P�	 =�*�
�(;�%� 	=$���9	'Q�/5	"B2��	�5��� 

9. �2�./$�	 8$���!��	 ���/����%
�����2���	.�.����� 

10. ��P*��	VI 2�����	�&������	L�0B
�
�?<�5	 $��#	 $%�����%	 =�!�	 I$�
$0����5	���4��%�	U

i) ����8��	�(0.���

ii) ��B����	�5���	.���

iii) '�<N�

iv) L�D�	��.�2P���<�

11. 0^�����4�	$������� 

a) EX�:���	$��$�*�

b) 2�./$�	.�8�0��
��� ���!�������%�
�������&�����
� ���!"��.%&�
#�	"

12. $��#	$%���9	"B2������	�'��B
"#�$�� 

a) L�D� a/c  Dr 20,000
To '���	����e�� a/c          20,000

b) 3�P�.�5 a/c  Dr 50,000
To =�T<�	��0G�� a/c          50,000

c) ABC Ltd. a/c  Dr 1,00,000
To 12% ��42$� a/c                    1,00,000

��� ���!�������%�
�������&�����
� ���!"�4 
#�	"

13. ���	:���
��N	�#�V	���	.���

0�F����	E�K���	L�0B
�	�?<��
��!���		0F*��/� 
a) =.����	 .�8�0�
���	 ��'��3���B

�#���%	I�$D�0��	��0�	��6��6���	'���
"#�$�� 

b) =K	��6���	��'��3�H�	
�&
��	8f�
)K�L0*!�	���
�%$�0�9	�����$�
��	.*f����� 

7. A company issued 1200, 10%
debenture as collateral security for
obtaining loan Rs. 1,20,000 from
Canara Bank. Show how is it recorded
in the Balance Sheet of  the Company.

8. Star Ltd., a cloth manufacturing
company, decided to raise capital by
issuing 50,000 Equity shares of Rs. 50
each for consideration of Land from
Siva Ltd. Pass journal entries.

9. Explain the procedure for calculating
‘Trend percentage.’

10. Under which major heads,  the
following items will be shown in the
Balance Sheet of a company as per
Schedule VI, of the Companies Act.
i) Outstanding Expenses

ii) Prepaid Rent
iii) Patents
iv) Bank overdraft

11. Write a short note on :
a) Inter-firm comparison
b) Trend Analysis

Answer the following question which
carries 3 scores.

12. Give narration for the following
entries.

         a)   Bank a/c                   Dr 20,000
To Calls in Arrear a/c          20,000

    b) Goodwill  a/c  Dr 50,000
               To Equity Share Capital a/c  50,000

c) ABC Ltd. a/c  Dr 1,00,000
To 12% Debenture a/c 1,00,000

Answer the following question which
carries 4 scores.

13. You are given the Statement of Profit
and Loss and Balance Sheet of a firm
for the last two years.
a) Name any four tools available for

analysing these statements.
b) Explain the common limitations in

determining the financial strength
and weaknesses of a firm by using
these tools.
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14, 15��%$�
����
��&������� ���!"

 5 
#�	��$��"

14. '(������	'(���� 

A B
a) �%$	��'�Q���N�  i) F�.�g.�
���

	0�F@�$
b) .��d�)�$���					  ii) ���H	'.$��
c) ��'@���											  iii) .�0���2X/.��

����$�	�����0��
d)  �$�#�0�6�  iv) :���
��N
					
�^���� ���
����9	2�����
e)  
����  v) F�.�	h/'8��

	.�0����
5

15. :���
��N	E�
��	���
���9	76�
��	
�&
��	.�8�0�'�J��	��'��3�
��%��� 

a) =.����	$��	$���H	����	$������� 
��'��	 .�F�3
�0��	 I�$D�0��	 ���
��2$� 

b) ��!�	 �����4��
��	 ��'��	 3�/
'F�f������	
�&
��	.�8�0��
"!��	2�'��Q��4��%��.%�	.�8)
����� 

16, 17�
����
+���'��(�)���*%��&�����
� ���!" 8 
#�	"

16. 75��	 0���<P��N 2015-16, 2016-17
.��!6��0	 .�5�����	 �(0.��6��
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 Answer the questions 14 and 15, each carries
 5 scores

14. Match column A with B.

A B

a. Top Management i. Present and future profitabiilty

b. Lenders ii. Better remunerations

c. Investors iii. Price regulation and Taxation

d. Labour unions
iv. Performance of the entreprise   
 as a whole

e. Government v. Assess future solvency

15. Financial analysis is undertaken by
different parties inside and outside the
firm.
a) Prepare a classified list of these

parties (any two from each
category)

b) Explain how financial analysis is
useful and significant to the
enlisted parties.

Answer any one question from 16 and 17,
each carries 8 score.

16. The sales and expenses of Alpha Ltd.
for the years 2015-16 and 2016-17 are
given below.

a) Prepare a Comparative Statement to
assess the profitability of the company.

b) Comment on operating efficiency  of the
business, based on the prepared
statement.

Items 2015-16 2016-17

Sales revenue 6,00,000 8,00,000

Cost of goods sold 3,00,000 6,00,000

Indirect Expenses 1,80,000   90,000

Income Tax       30%     40%
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17. The Common Size Balance Sheet for
comparison of two firms are given.

a) Complete the Common Size Balance
Sheet by giving the missing figures.

b) Give your comments on the strength
and weaknesses of both the
companies.
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Particulars
ABC Ltd. XYX Ltd.

Rs. % Rs. %

Fixed assets 41,400 a.    ? 72,300 89%

Current Assets 2,400 5% 8,500 b ?

Total Assets 43,800 100% 80,800 100%

Capital and Reserves 28,400 c. ? 58,800 d. ?

Long-term liabilities 11,000 25% 12,000 e. ?

Current Liabilities 3,900 f.   ? 10,900 12%

Total Liabilities 43,800 100% 80,800 100%


